

K. Kiyono

G: Lie grp    X:  $C^\infty$ -mfd.

$$G \curvearrowright X \Leftrightarrow G \times X \rightarrow X \quad C^\infty$$

$$\begin{aligned} 1x &= x \\ g(hx) &= (gh)x \end{aligned}$$

$$(G \subset \text{Diff}(X))$$

Smith Th     $G = \mathbb{Z}_p$     p prime

$$X = \mathbb{Z}_p H S^1$$

$$\Rightarrow X^G = \mathbb{Z}_p H S \quad (\phi \in \text{あり})$$

→ g gen.

$$G \curvearrowright X \quad C^\infty\text{-closed mfd}$$

finite  
"  $\mathbb{Z}_p$

$$S^1 = \begin{array}{c} \mathbb{Z}_3 \\ \curvearrowright \\ 120^\circ \end{array}$$

$$X/G = X/\sim$$

$$X \ni x_0 \quad G(x_0): \text{orbit}$$

$$C(K) \text{ chain of } x \text{ coeff } \mathbb{Z}_p = \langle g \rangle$$

$$\alpha: C(K) \rightarrow C(K)$$

$$\sigma \mapsto \sigma + g\sigma + \dots + g^{p-1}\sigma$$

$$\beta: C(K) \rightarrow C(K)$$

$$\sigma \mapsto \sigma - g\sigma$$

$$(\alpha\beta = \beta\alpha = 0)$$

単体分割可能.

$$G \curvearrowright K$$

$$K \ni \sigma^k \mapsto g\sigma^k \in K$$

実は  $K$  "と2あり"は"

$$X^G = |K^G|$$

$$X/G = |K/G|$$

$$G \curvearrowright X \text{ free}$$

$$\Rightarrow \chi(X) = |G| \chi(X/G)$$

$$G \curvearrowright X \setminus X^G \text{ free}$$

$$\Rightarrow \chi(X) = |G| \chi(X/G)$$

$$- (|G|-1) \chi(X^G)$$

$$0 \rightarrow \alpha(C(K) \oplus C(K^G)) \rightarrow C(K) \xrightarrow{p} \beta C(K) \rightarrow 0 \quad \text{exact}$$

$$0 \rightarrow \beta C(K) \oplus C(K^G) \rightarrow C(K) \xrightarrow{a} \alpha(C(K)) \rightarrow 0 \quad \text{exact}$$

$$\rightarrow H_{k+1}(p(C)) \rightarrow H_k(\alpha(C(K)) \oplus H_k(X^G)) \rightarrow H_k(X) \rightarrow$$

$$\rightarrow H_{k+1}(\alpha(C(K))) \rightarrow H_k(\beta(C(K)) \oplus H_k(X^G)) \rightarrow H_k(X) \rightarrow$$

$$\begin{aligned} a_k &= \text{rk } H_k(\alpha(C(K))) \\ b_k &= \text{rk } H_k(\beta(C(K))) \\ x_k &= \text{rk } H_k(X) \\ y_k &= \text{rk } H_k(X^G) \end{aligned}$$

$$\begin{aligned} a_0 + y_0 &\leq b_1 + x_0 \\ b_1 + y_1 &\leq a_2 + x_1 \\ &\vdots \\ a_n + y_n &\leq b_{n+1} + x_n \end{aligned}$$

$$\text{rk } H_k(X^G) \leq \text{rk } H_k(X) = 2$$

↑  
X Z\_p HS

Case 1  $\text{rk } H_k(X^G) = 0 \quad X^G = \emptyset$

Case 2  $\text{rk } H_k(X^G) = 2 \quad X^G = \mathbb{Z}_p \text{ HS}$

Case 3  $\text{rk } H_k(X^G) = 1 \quad H_k(X^G) = \mathbb{Z}_p \text{ for } k \neq 0$   
 $\chi(X^G) = 1$

$\mathbb{Z}_p \sim X$  非自由

$$X \setminus X^G$$

$$\chi(X) \equiv \begin{matrix} 2 \\ - \end{matrix} \chi(X^G) \equiv \begin{matrix} - \\ -1 \end{matrix}$$

ウツン //

1950s 同変コホモロジー (同変性)

$$H_G^*(X) = H^*(EG \times_G X)$$

$$G \curvearrowright X \text{ free } X \xrightarrow{G} X/G \quad EG \times_G X \sim X/G$$

$$H_G^*(X) = H^*(X/G)$$

$$EG \times_G X$$

$$\downarrow \pi$$

$$BG$$

$$\pi^*: H^*(BG) \rightarrow H_G^*(X)$$

$$\uparrow$$

$$H^*(BG)\text{-algebra}$$

$$G \curvearrowright X \text{ 自由} \Rightarrow H_G^*(X) = H^*(BG \times X)$$

$$=_{\text{coeff 体}} H^*(BG) \otimes H^*(X)$$

$$S^1, \mathbb{Z}_p (p \text{ prime } \geq 3) \curvearrowright \mathbb{C}P^n$$

$$H_G^*(\mathbb{C}P^n; \mathbb{Z}) = H^*(BG) \otimes H^*(\mathbb{C}P^n) \text{ (module)}$$

" $H_G^*(X)$  に  $\mathbb{Z}$  と  $\mathbb{Z}_p$  と"  $\stackrel{\text{同変性}}{\rightleftharpoons}$  " $H_G^*(X^G)$  に同じ" サイク "

$$\text{同変性 } G = S^1 \quad S^{-1} H_{S^1}^*(X) = S^{-1} H_{S^1}^*(X^{S^1})$$

$$S^\infty = ES^1$$

$$H^*(BS^1) = \mathbb{Z}[c]$$

$$c \in H^2(BS^1)$$

$$\downarrow$$

$$\mathbb{C}P^\infty = BS^1$$

$$ES^1 \xrightarrow{S^1} BS^1 \text{ の Chern class}$$

4/7

 $S = \{1, mcr \mid m, r \in \mathbb{N}\}$  積的群.

$$S^{-1}M = S \times M / \sim \quad \rightarrow \frac{m}{s}$$

$\nwarrow H^*(BS) \text{-module}$

$$(s_1, m_1) \sim (s_2, m_2) \Leftrightarrow t s_1 m_2 = t s_2 m_1, \quad t \in S$$

orbit  $G \curvearrowright X \quad G(x_0) = G/G_{x_0}$   
 $\uparrow$   
 orbit.

$$S' \supset \mathbb{Z}_m$$

$$H^*(BS') = H_{S'}^*(S'/S') \rightarrow H_{S'}^*(S'/\mathbb{Z}_m)$$

$m \in \quad \mapsto \quad 0$

$$\{2 \mid S'/\mathbb{Z}_m = G(x) \} = X_m \subset U_m$$

$$U_m \rightarrow X_m \rightarrow S'/\mathbb{Z}_m$$

$$H_{S'}^*(S'/\mathbb{Z}_m) \rightarrow H_{S'}^*(U_m)$$

$$H^*(BG) \xrightarrow{mc} 0 \rightarrow 0$$

$$\underline{S^{-1} H_{S'}^*(U_m) = 0}$$

$$\bullet \quad X^{S'} \neq \emptyset \Leftrightarrow H^*(BG) \xrightarrow{\pi^*} H_{S'}^*(X)$$

$$\left( \begin{array}{l} \Rightarrow \text{S' is free} \\ \Leftarrow \text{universal property} \end{array} \right) ES'_X, X \xrightarrow{\pi} BG$$

$$\left( \begin{array}{l} H_{S'}^*(\mathbb{C}P^n; \mathbb{Z}) = H^*(BS') \otimes H^*(\mathbb{C}P^n) \\ \therefore \mathbb{C}P^n^{S'} \neq \emptyset \quad // \end{array} \right)$$

指数定理の応用

$$G \curvearrowright X \quad G \curvearrowright TX \quad f: X \rightarrow X$$

$$df_x: T_x X \rightarrow T_{f(x)} X$$

$$X^G \ni x \quad G \curvearrowright T_x X \quad G \curvearrowright V \quad G \text{ の表現}$$

線形

$$\text{Smith } \mathbb{Z}_p \curvearrowright X \quad \mathbb{Z}_p \text{ HS } \quad X^{\mathbb{Z}_p} = \{P, Q\}$$

$$G \curvearrowright T_p X \text{ と } G \curvearrowright T_q X \text{ は同じか?}$$

「同じである。」 Smith 予想.

指数定理

$$\text{ind}: K(\ast) \rightarrow \mathbb{Z}$$

$\downarrow$   
[ $\sigma(D)$ ]

$$\text{ind } D = \text{ind} [\sigma(D)]$$

$$\text{ind}_G: K_G(TX) \rightarrow R(G)$$

$$\parallel$$

$$\text{ind}_G D \in R(G)$$

$$K_G(\ast) = R(G)$$

$$TX \rightarrow \ast$$

$$R(G) \rightarrow K_G(TX) \text{ により } K_G(TX) \neq R(G)\text{-module}$$

6/17

$G = \langle g \rangle$  と仮定.

$$R(G) \supset S = \{ \text{tr}(g|V) \neq 0 \}$$

$$TX^g \hookrightarrow TX \quad K_G(TX) \xrightarrow{i^*} K_G(TX^g)$$

$$X^g \subset N^g \subset TX \quad S^{-1}K_G(TX) \xrightarrow{i_1^*} S^{-1}K_G(TX^g)$$

(1)  $\rightarrow$  同型  $\cong$

$$\begin{array}{ccc} K_G(TX) & \xrightarrow{\text{ind}_G} & R(G) \\ \uparrow i_1^* & \nearrow \text{ind}_G & \\ K_G(TX^g) & & \end{array}$$

$i_1^*$  (dashed arrow)

$$\begin{array}{ccc} S^{-1}K_G(TX) & \rightarrow & S^{-1}R(G) \\ \cong \downarrow \uparrow \cong & & \nearrow \\ S^{-1}K_G(TX^g) & & \end{array}$$

$$S^{-1}K_G(TX^g)$$

$$i_1^* i_1^*(u) = [\Lambda^{-1} N_G^g]_x$$

$$\begin{array}{ccc} TX & \rightarrow & X \\ \cup & & \cup \\ \pi_N = \pi^* N^g & & N^g \\ \downarrow & & \downarrow \\ TX^g & \xrightarrow{\pi} & X^g \end{array}$$

$$K(X^g) \xrightarrow{\pi^*} K(TX^g)$$

$$\text{ind}_G^X u = \text{ind}_G^{X^g} \frac{i_1^* i_1^*(i_1^{-1}) u}{[\Lambda^{-1} N_G^g]}$$

$$= \text{ind}_G^{X^g} \frac{i_1^* u}{[\Lambda^{-1} N_G^g]}$$

$$= \left( \text{ind}_G^{X^g} \right) \frac{i_1^* u}{[\Lambda^{-1} N_G^g]}$$

$$G \curvearrowright V \quad \chi(G) \xrightarrow{\text{tr}} \mathbb{C}$$

$$X^g = \{p_1, \dots, p_r\}$$

$$K_G(X^g) = \bigoplus R(G)$$

$$(\text{ind}_{\text{orb}}^{X^g}) \left( \frac{i^* \chi(G)}{[\Lambda^{-1} TX \otimes \mathbb{C}]} \right) (g) = \sum_{i=1}^r \frac{\text{tr}(g|U_p)}{\#([\Lambda^{-1} T_{p_i} X \otimes \mathbb{C}])}$$

$$\sum (-1)^k \text{tr}(A|N^k V) \stackrel{\text{ex.}}{=} \det(1-A)$$

$$= \sum (-1)^k \text{tr}(dg_p) = \det(1-dg_p)$$

134 de Rham

$$\text{index}(\text{de Rham})(g) = \sum (-1)^k \text{tr}(g|H^k(X)) = L(g)$$

分子的  $\text{tr}(g| \Lambda^{-1} T_p^* X) = \dots = \det(1-dg_p)$  Lefschetz

$$\text{ind}_G(\text{de Rham}) = \sum_{H^k(X)} 1 = \text{点个数}$$